Equal 9 step grey scaling betweeb* g;n=—27.3 andL* go\w=27.3, Yorei=54.0, normalisation greyU

L*0aN==27.2,L*0au~0.0,L*0awF27.3,Ypan=6.0, Yoa~18.0, Yoanw=54.0,Coay=Yoaw: Yoan=9.0
L*tan=—4.4,L71ay=0.0, L*tan=10.1,¥1an=15.0, ¥ay=18.0, Y1an=27.0,Cray=Ytaw: Yian=1.8
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 AL* min] / [AL* max], L* TusinD1 = 40 / Iog(5) [log (Y/Yy) ] with Y, =18

0autYoref

g%= 99, g¥y= 99 9%= 29, g¥y= 24 g%5= 78, g'y= 64
L*TuBanD1 intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a Al*a L*r Yta (L*tr) 11621 *a Al*la
50+ :
9 273 10 540 10! 101 10 270 10 101
25+ O ; 3.2 2.0
8 205 0875 410 073 69 _° 0782 237 0859 80 '
7 136 075 312 0524 42 2'3 0596 213 0727 61 g
6 68 0625 237 0.368 19 1'9 0.439 194  0.602 43
0+@s5 00 05 180 025 00 1'5 031 180 0485 26 ¢
@: 67 0375 137 016 -14 1'2 0.205 169  0.376 09 '
3 -13.6 025 104 0.091 -2.7 1'0 012 161 027 05
2 -204 0125 7.9 0.039 -3.7 0.053 15.5 0.163 -21
254 : 0.8 2.4
1 -272 00 60 00 : -44 00 150 00 -4.4
50~ 3 Yoart Y,
AL*(,=6.8 (=1,2,...8) | normalisation: Yaiy=Yoau (22l Yoref
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